T 98ed

—Dam  peoiddy (an13150d papmdn) Ajuo AyApab 03 aNp JUBWSAOW PIDMUMOP TdYNJ 3UaA3.d 03 A1DSS323U JU3IPDIB 1NDIPAY piomdn paiinbay = ©1
AN paxoayd (p4omdn aa13150d) JUaWANOW PIDMUMOP TdYNG 3UaA34d 03 A10SS323U JU3IPD.ID J1INDIPAY papmdn palinbay = 11
(ansod paomdn) 1uaipo.b 21NpIPAY paniasqo = ‘30N
(Wo/3
sk W s e S$911IA11ONPUOD Jl|nelpAy uo
s TS80'T = Asusp suonensasqo U paseq pajewilsa ale i “xelp B Ui ulN
“tdo/pue’t> i 14yNa 41 Jo/pue gl vlieios ) 9 3y o Wy £002/L1/€ 225 ‘1580°T= Neway
wy ¢ 8o w ‘ : : : ‘
1'9002/S2/8 434V i 1> "1 (80/L2/9 IIe '9002/vT/€ 123y 4002/02/ZT 193y SpIo33 Ausuap 1¥dNd @ TS80°0 = 1 ‘¥8TO'T
10§ 1d20x3) ssaudIY} 1dVYNQ = KsUsp 1dYNG @ b8T00 =1
9002/¥2/€ 19UV ou ‘100z 03 Jolid N :
0 1 86 i 0 69 0s 0 Y1 xeN < 1o %
wd/3
0 T 86 LT 0 L 0S [0)8 Yuin <10 9% 3
0 T 86 8 0 69 0S 4 f<yoy LS80
1<7140% Ausuag
€¥80°0~ 0¢80°0~ 6€8°0 ~ S€80°0 ~ €¥80°0 ~ T¥80°0 ~ 7080°0 ~ 68TT°0 ~ (Y1) 3uaipess 1dVNG
S6L0°0 18500 £9/0°0 9100 ¢6L0°0 08L°0 T1S0°0 £590°0 ollenipAy sa1emdn paiinbay
Sz 9T 00T 63 0 6L 0s 8L 4 xey < Y1 40 %
" wo/3
18 18 00T 63 S 6L 0s 8 41Ul < Y140 9 €
v810°'T=
SL 9T 00T 68 € L6 0S 8 Br<tyon A To0z
HSU2A | 4o piig
9/T0°0 ~ €GT00 ~ ¢LTO0 ~ £L10°0 ~ 8100 ~ VLT0°0 ~ Y100 ~ ¥¢00°0 ~ (Y1) 3uaipess 1dVNa B
87100 9800°0- 00100 5000 €100 €110°0 910°0- 100°0- J1jenipAy piemdn palinbay o 1YY
0-AON-9T €0-das-5¢ €0-unr-ve ¥0-1dv-6T €0-unr-9z ¢0-unr-81 0-990-0¢ 0-uer-oc “I uelpaw ayy jo aleq
(aAnsod piemdn)
6€0°0 €00°0- 0€C0 9500 ¥€0°0- 0cT'o ¢LT0 1500 w
| UeIpaN
(aAn1sod piemdn) ejeq p|ai4
[650°0 ‘€T€0"] [seTz ‘9g0°07] [eL€0 ‘e90°0] [660°0 ‘965°0-] [T50°0 ‘T£0°07] [££1°0 ‘v00"0] [9v£ 0 ‘s¥2’0-] i [00T°0 ‘80T°0-] (*1) syuaipess
|B211J9A PAAISqO Jo a3uey
9¢ LE [4] LE LE S¢ 8 L9 SUONIBAJSSQO JO JSqWINN
0 9 144 [44 0 14 VN VN Y xeN < M40 %
wo/3
0 v9 Ly [44 0 514 VN VN Ui <Migo % o/
0 9 144 LT 0 14 WN S B<™yo9 LS80
1<7140% Ausuag
€780°0~ 0780°0~ 6€8°0 ~ GE800 ~ €780°0 ~ 7800 ~ WN WN (1) Juaipess 1dvNQ
S6L0°0 18500 £9L0°0 9TL0°0 6L0°0 08£0°0 a1jenspAy psemdn paJinbay
€9 89 ¥9 LS 0 €€ VN VN Y xeN < Y140 %
E wo/3
€9 08 S9 LS 0 €€ VN VN Ui <Migo % £
810°T= (o]
€9 89 9 LS 0 €€ wN ST flc¥jo9 T00z ¥
Aisuaa | piy sy
9/T00 ~ €ST0°0 ~ ¢LT00 ~ L1000~ 8700 ~ ¥L10°0 ~ (1) Juaipess
) . . . . . VN VN 1dVNQ | a.i0y09
8¢T0°0 9800°0- 00100 S00°0 €700 €T10°0 J1jenJpAy psemdn pasinbay
T0-AeN-TE 00-AON-LT 00-8ny-8T 00-das-9 00-290-€T 66-1dv-91 VN 00-10-0€ “| uelpaw ayy Jo a1eq
(aAn1sod psemdn)
70°0 7550 890°0 8200 ¢S0°0- TEVO- VN S8'T- w
1 ueIpa
(aA1m1s0d piemdn) eleq p|al4
[650°0 ‘520701 [z18'C266°0-] [59T°0 ‘281707 [8TT°0‘LST'T-] [zv0°0- ‘2S€°0-] [veTo ‘ver 1] VN [oTT°0 ‘L2VT"] (*1) syuaipess
|B211J9A PaAISSqO Jo d8uey
8 S¢ LLE €C €C [ 0 0¢ SUOI1BAJ9SqO JO JaquINN
S8'CL 8'€E A4 S'/9 £'89 €6'99 68'TT 00°Ly Paud3.3s 40 sjulodpiw Y3 Mig UBIBHIQ [BIIHIBA
TVAILISd TVAILISd Ay 82/ B SIVIIN | TIYPURTS/d | TlIPUeTS/d VA3LDSd TIypuels/d i Tlypue1s/d uonedo| ||3Mm
JV-Zd9d a€-Z5dy as-dm a9-2d5Y 09-Zd9d J1-94 M-Zd-M5S a/-Z2d54d Cllem sued IPM
av-9Y4 J€-79dy S8-dM 09-Zd5Y 49-7d9Y da7-94 €¢-dZIY J/-7d9Y T II9M i

eIUIO}I[RD ‘ellewse)

91IS punjiadng sa2in0Say eljewse)
110day uonebinsau| [eipsway reuld
uonen(ea3 1dvNQ :SisAfeuy [ed11s11elS pesH dlnelpAH Jo Alewwns 'g-4 a|qel




	Summary_analysis

